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f=1303, X=4043.1

Y=240 (dx=nan, do=nan) Y=481 (dx=nan, do=nan) Y=722 (dx=5.2e+00, do=nan) Y=963 (dx=2.8e+00, do=8.2e-01)
pfsArm pfsArm I. T pfsArm T pfsArm
== (x=nan, g=nan) === (x=nan, g=nan) I = (x=4043.58, 0=1.04) I = (x=4041.83,0=1.09)
— calExp — calExp T [ =1 1 — calExp
1 (x=4053.09, 0=2.03) 1 (x=4049.78, 0=1.54) (x=4048.74, o=nan) (x=4044.60, 0=1.87)
= Residual*s == Residual*s I — Residuars I Residuars
- Trace - Trace I = Tace - 1 - Trace
. . . 1 1
1 1
1 1
. - — H o -t T
T T T T T T T T 1 T T 1 T T
Y=1204 (dx=nan, do=nan) Y=1445 (dx=2.9e+00, do=nan) Y=1686 (dx=1.9e+00, do=1.0e+00) Y=1927 (dx=3.1e+00, do=nan)
pfsArm I pfsArm I pfsArm T l.l I pfsArm
== (x=nan, g=nan) 1 = (x=4038.39, o=nan) - | = (x=4036.45,0=0.73) 1 = (x=4035.98, o=nan)
— calExp 1 1 — calExp | — 1 — calexp
- (x=4042.19, 0=2.15) (x=4041.31, 0=2.01) (x=4038.39, 0=1.74) i (x=4039.13, 0=1.94)
= Residual*5 I = Residual*5 - I = Residual*5 I e Residual*5
- Trace - 1 - Trace 1 I = Trace 1 - Trace
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Y=2168 (dx=2.7e+00, do=nan) Y=2409 (dx=3.0e+00, do=2.1e+00) Y=2650 (dx=2.6e+00, do=nan) Y=2891 (dx=4.4e+00, do=nan)
I pfsArm pfsArm L I pfsArm I- I pfsArm
M M I = (x=4035.44, 0=nan) = (x=4035.00, 0=0.00) - | = (x=4035.39, o=nan) 1 = (x=4035.11, o=nan)
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Y=240 (dx=nan, do=nan)

f=1304, X=4036.8

Y=481 (dx=nan, do=nan)

pfsArm
=== (x=nan, o=nan)

calExp
= (x=4045.75, g=nan)
e Residual*s
w | Trace

-1 = (x=4043.16, 0=1.07)

pfsArm
=== (x=nan, g=nan)

calExp

w——Residual*5
== Trace
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Y=1445 (dx=4.3e-02, do=-1.4e-01)

pfsArm
=== (x=nan, o=nan)
calExp
= (x=4035.95, 0=0.96)
e Residual*5
w1 Trace

1 | ™ (x=4034.42, 0=1.09)

pfsArm

calExp
= (x=4034.47, 0=0.95)
= Residual*5

w— Trace
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Y=2409 (dx=1.3e+00, do=-1.9e-01)

I pfsArm I pfsArm
1 == (x=4031.89, 0=1.08) . 1 == (x=4030.36, 0=1.10)
calExp 1 calExp
m—(x=4031.85, 0=0.80) = (x=4031.62, 0=0.91)
= Residual*5 I == Residual*5
- Trace 1 - Trace
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| Trace
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e Residual*5
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- Trace
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= Trace
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== Trace
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f=1305, X=4030.6

Y=240 (dx=nan, do=nan) Y=481 (dx=nan, do=nan) Y=722 (dx=5.9e-02, do=-1.6e-01) Y=963 (dx=-5.8e-03, do=-3.8e-01)
pfsArm pfsArm T pfsArm N T
= (x=nan, g=nan) == (x=nan, g=nan) = (x=4034.11, 0=1.19) 1
calExp calExp T calExp n
= (x=4039.87, 0=2.02) -1 = (x=4036.89, 0=0.95) = (x=4034.17, 0=1.03)
— Residual*s — Residual*s m— Residual*s  PFSATM
= Trace == Trace == Trace (x=4031.92, 0=1.34)
calExp
T T = (x=4031.92, 0=0.96)
= Residual*5
i = Trace
T T T T T T T I 1 T 0 T T
Y=1204 (dx=3.1e+00, do=3.2e-01) Y=1445 (dx=-1.3e+00, do=nan) Y=1686 (dx=-3.3e+00, do=1.1e+00) 0, do=3.3e+00)
u I — T —r . =
pfsArm pfsArm pfsArm
= (x=4027.00, 0=0.00) = (x=4030.10, 0=1.26) 1 = (x=4027.30, 0=1.26)
calExp calExp 1 calExp | h
= (x=4030.07, 0=0.32) = (x=4028.77, o=nan) L | == (x=4023.99, 0=2.38)
m— Residual*s = Residual*s 1 = Residual*5 aaam PFSATM
= Trace _| = Trace 1 = Trace (xT4oze_4g, 0=1.23)
] e - 1 i ~ — (02393, 0-a50)
| —Residual*s
- Trace
] e - {H- _rrl' LU= _H-H:}H
T T L T T T T T
Y=2168 (dx=-4.9e-01, do=3.7e+00) Y=2409 (dx=2.5e-01, do=-6.2e-01) Y=2650 (dx=-7.7e+00, do=nan) e+00, do=3.2e+00)
J pfsArm T pfsArm pfsArm pfsArm
= (x=4026.26, 0=1.50) | = (x=4025.49,0=111) = (x=4033.78, g=nan) = (x=4026.43, 0=1.22)
calExp 1 calExp calExp calEx
= (x=4025.77, 0=5.21) - = (x=4025.74, 0=0.49) = (x=4026.10, 0=2.67) = (x=4025.01, 0=4.39)
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I. pfsArm - pfsArm pfsArm pfsArm
= (x=4027.31, 0=123) = (x=4029.66, 0=0.53) = (x=4030.26, 0=1.14) = (x=4032.50, 0=1.11)
calExp - 1 calExp -1 calExp calExp
= (x=4026.49, 0=3.47) = (x=4027.03, 0=2.58) == (x=4030.31, o=nan) = (x=4032.65, 0=1.61)
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- Trace - Trace - Trace - Trace
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Y=240 (dx=nan, do=nan)

f=1306, X=4024.3

Y=481 (dx=nan, do=nan)

pfsArm
=== (x=nan, o=nan)

calExp
_(x= 4034 39, 0=2.08)
— Residual*s

= Trace

pfsArm
=== (x=nan, o=nan)

calExp
=== (x=4032.54, o=nan)
e Residual*s

= Trace

Y=1204 (dx=2.6e+00, do=nan) '

Y=1445 (dx=1.0e

00, do=5.3e+00)

e

pfsArm
= (x=4020.77, 0=1.30)
calExp

X
== (x=4023.33, o=nan)
e Residual*5

- Trace

|

T
+
I oo
1 = (x=4025.00, 0=0.00)
I |
(x=4026.01, 0=5.28)
I === Residual*5
|
|
|
1
1
I
1

= Trace

A

Y=2168 (dx=1.4e+01, do=nan)

Y= 2409(dx 1.5e-01, da nan)

Y=722 (dx=-1.4e-01, do=-2.7e-01)

wm_ Residual*s
== Trace

pfsArm
= (x=4027.76, 0=1.18)

calExp
= (x=4027.62, 0=0.90)

dx=1.2e+00, do=1.2e+00)

pfsArm
== (x=4020.85, 0=1.01)

calExp

= (x=4022.05, 0=2.22)
e Residual*5

- Trace

Y=2650 (

dx=-7.1e-01, do=1.3e+00)

i

11 (x 4004 80, o=nan)

Exp
= lx=4018.52, 0=2.59)
e Residual*5

= Trace

|

(x 401923 0=112)

Exp
_— (x:4019.38, o=nan)

e Residual*5
= Trace
T T T T T
Y=3132 (dx=8.7e-01, do=1.1e+00) Y=3373 (dx=-4.4e-01, do=1.4e+00)
pfsArm
= (x=4020.79, 0=1.04)
calExp
- — (x=4021.65, 0=2.15)
e Residual*5 bl pfsArm
- Trace (x=4022.18, 0=0.99)
calExp
. = (x=4021.74, 0=2.37)
= Residual*5
= Trace
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= Trace
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e Residual*s
= Trace
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= Trace

pfsArm
= (x=4025.22, 0=1.33)
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=== (x=4025.69, o=nan)
o

Y=1927 (dx=-7.4e-01, do=1.9e+00)

S
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= (x=4020.31, 0=0.58)

calExp

= (x=4019.58, 0=2.47)
= Residual*5

- Trace
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=== (x=4020.79, o=nan)
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= Trace
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= Residual*s
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Y=240 (dx=nan, do=nan)

f=1307, X=4018.0

Y=481 (dx=nan, do=nan)

pfsArm
=== (x=nan, o=nan)

calExp
= = (x=4026.41, o=nan)
w— Residual*s

== Trace

pfsArm
=== (x=nan, g=nan)

calExp
= (x=4024.50, 0=0.94)
m— Residual*s

== Trace

Y=1204 (dx=1.5e-01, do=-3.1e-01)

Y=1445 (dx=3.0e+00, do=nan)

pfsArm
= (x=4017.29, 0=1.10) 1
calExp
= (x=4017.45, 0=0.78)
| == Residual*5
= Trace

pfsArm
== (x=4013.00, 0=0.00)

calExp
= (x=4016.02, 0=nan)
= Residual*5
== | Trace

Y=2168 (dx=-2.2€-02, do=nan)

Y=2409 (dx=7.1e-02, do=-8.5e-01)

T T pfsArm pfsArm
| ™ (x=401326, 0=1.07) === (x=4013.07, 0=1.09) 1
1 calExp -1 calExp
m—(x=4013.24, o=nan) = (x=4013.14, 0=0.24)
T = Residual*5 = Residual*5
= | - Trace - Trace
- —

| 0L s

Wl

Y=3132 (dx=6.9e-01, do=nan)

Y=3373 (dx=-4.0e-01, do=nan)
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= (x=4014.52, 0=1.05)

T
j calExp
== (x=4015.22, o=nan)

e Residual*5
| Trace
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= Trace
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= Residual*5
== Trace
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e Residual*5
= Trace
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= Trace
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calEx
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= Trace
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= Trace
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Y=240 (dx=nan, do=nan)
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. - - — 1 -

Y=1204 (dx=6.1e-04, do=-1.5e-01)

Y=1445 (dx=3.5e-02, do=-3.0e-01)

pfsArm
| =™ x=3979.97,0=111)

calExp
= (x=3979.97, 0=0.95)
= Residual*5

= Trace

T fSArm
| ™ (x=3978.47,0=1.10)

calExp
= (x=3978.51, 0=0.80)

e Residual*5
= Trace

gh

]
Y=2168 (dx=-3.0e-02, do=-5.6e-01)

Y=2409 (dx=-5.9e-02, do=nan)

. I pfsArm T pfsArm
| ™ (x=3975.98, 0=1.08) 1 = (x=3975.78, 0=1.08)
1 calExp calExj
= (x=3975.95, 0=0.52) = (x=3975.72, o=nan)
N I = Residual*5 == Residual*5
- Trace - - Trace

_ b

R

Y=3132 (dx=4.9e-02, do=nan)

Y=3373 (dx=1.0e-01, do=nan)

pfsArm
| = (x=3977.14, 0=1.07)
1
1

calExp

(x=3977.19, o=nan)
e Residual*5
| Trace

E=Cimny

3970 3980 3990

T pfsArm
| ™ (x=3978.38,0=1.07)

e Residual*5

LM

calExp
== (x=3978.48, o=nan)

Ei=

3970

At

3990

3980

Y=722 (dx=3.6e-02, do=-3.7e-02)
T

pfsArm
| ™ (x=3984.13,0=111)

1 calExp
= (x=3984.16, 0=1.08)

= Residual*5
== Trace

1
Y=1686 (dx=1.9e-01, do=-5.3e-01)
T I fsArm
| ™ (x=3977.33,0=1.10)
1 — (cffsxgpw.sz, 0=0.57)

e Residual*5
= Trace

Y=2650 (dx=-5.0e-02, do=-6.6€-01)

pfsArm
= (x=3975.88, 0=1.07)

calExp
m—(x=3975.83, 0=0.41)
= Residual*5

- Trace

__ll.'

Y=3614 (dx=1.3e-01, do=nan)

pfsArm T
= (x=3980.09, 0=1.06) 1

calExp I
= (x=3980.22, o=nan)

e Residual*5

3970

3980 3990

Y=963 (dx=4.7e-03, do=-1.1e-01)

T pfsArm
1 = (x=3981.85, 0=1.11)

calExp
= (x=3981.85, 0=1.00)

e Residual*5
== Trace

Y=1927 (dx=2.9e-01, do=nan)

I fsArm
| =™ (x=3976.52, 0=1.09)
calExp
= (x=3976.80, o=nan)
e Residual*5
= Trace

1

Y=2891 (dx=4.4e-02, do=-5.4e-01)
I pfsArm
| =™ (x=3976.33,0=1.07)
I — (C:LE;§76.37, 0=0.53)

e Residual*5
== Trace

e s

Y=3855 (dx=2.6e-01, do=nan)

T pfsArm
| ™ (x=3982.33, 0=1.07)

calExp
a = (x=3982.60, o=nan)
m—Residual*s

- Trace

L

Ot ) i _-ff
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f=1314, X=3974.5

Y=240 (dx=nan, do=nan) Y=481 (dx=2.5e-01, do=6.8e-01) Y=722 (dx=-9.3e-03, do=-1.8e-01) Y=963 (dx=-3.9e-01, do=nan)
pfsArm pfsArm pfsArm 1= pfsArm
== (x=nan, o=nan) = (x=3980.65, 0=1.11) — (x=3977.97, 0=1.23) n = (x=3973.96, o=nan)
calExp calExp calExp calExp.
-1 = (x=3983.93, 0=1.58) = (x=3980.89, 0=1.79) = (x=3977.96, 0=1.05) = (x=3973.57, 0=1.88)
m— Residual*s — Residual*s m—— Residual*s — Residual*s
- Trace T = Trace — == Trace ™1 == Trace
] . \—J-——-— I T . 1q1 -— - _--_-.I-H- J__ e e § 5.
T T T T T T N T T I
Y=1204 (dx=-1.3e-01, do=-9.1e-01) Y=1445 (dx=-2.5e-02, do=1.2e+00) Y=1686 (dx= o=nan) Y=1927 (dx=-4.9e-02, do=9.2e-01)
I -pfsArm - i 'pf;A:m 1 i :)f;A:m B L
- 1 = (x=3973.90, 0=1.30) = (x=3971.26, 0=1.30) = (x=3970.21, 0=1.05) |
calExp calExp calExp [
; = (x=3973.77, 0=0.39) - = (x=3978.66, 0=nan) = (x=3970.16, 0=1.97) a
m— Residual*5 mm PFSATM = Residual*5 e Residual*5 I
- Trace (x=3972.06, 0=0.88) | = Tace | A= Tace [
- - calExp
-I' L = (x=3972.04, 0=2.11) = |
— Residual®s |
- Trace |
- - - — - ek - — I f - — - — — - - - - — I L Ko b b
[ Iy 0
T T T T T T T T T T
Y=2168 (dx=1.2e+00, do=nan) Y=2409 (dx=4.9e-01, do=1.5e+00) Y=2650 (dx=5.3e-01 1.4e+00) Y=2891 (dx=-4.8e-02, do=1.0e+00)
pfsArm T pfsArm pfsArm a - pfsArm
= (x=3968.96, 0=nan) 1 = (x=3969.31, 0=0.62) = (x=3969.39, 0=0.62) = (x=3969.98, 0=1.00)
calExp . 1 calExp T calExp calExp
— = (x=3970.12, 0=2.38) = (x=3969.80, 0=2.08) = (x=3969.92, 0=2.00) = (x=3969.93, 0=2.03)
e Residual*5 I = Residual*5 = Residual*5 T = Residual*5
| - Trace 1 - Trace = Trace - Trace
J - 1 1r
1 -
- 1
{1 H4+H-F=HIE - 4- {1 H- __.+ - A ] - - -+t FHP-F- 1 H4EH-- - -
: I C n '! | r :.I —— r : : |
Y=3132 (dx=3.1e-01, do=1.1e+00) Y=3373 (dx=1.0e-01, do=1.0e+00) =3614 (dx=1.4e-01, do=1.1e+00) Y=3855 (dx=1.6e+00, do=-6.4e-02)
pfsArm J . pfsArm pfsArm
== (x=3970.80, 0=0.97) 1 B [™ (x=3972.04, 0=1.05) 1 = (x=3975.96, 0=1.05)
calExp | | calExp - | -I L calExp
= (x=3971.11, 0=2.07) = (x=3972.14, 0=2.09) -1 = (x=3977.54, 0=0.98)
w— Residual*s | 1 I w— Residual*s | —— PFSAMM e Residual*s
— = Trace | | - Trace ] | OFPRY oo - Trace
I I I Ang calExp
- (x=3973.89, 0=2.07) .
| . I | | — Residuars
I l I == Trace
- — — --II l o n b ol e S - =i b - — - I f — — - e — ---II — - Ll o e bl o o e el — — —
[ T A [
T T
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f=1315, X=3968.2

Y=240 (dx=nan, do=nan) Y=481 (dx=-2.6e-01, do=1.2e+00) Y=722 (dx=1.8e-01, do=-2.4e-01) Y=963 (dx=-2.0e+00, do=nan)
pfsArm pfsArm pfsArm T
== (x=nan, g=nan) | = (x=3974.43,0=1.11) 1 = (x=3971.52, 0=129) 1
—EL ) R e T | I
- (x=3977.52, 0=2.11) (x=3974.17, 0=2.27) (367171, 0=1.05) ]
— Residual*s — Residual*s I | == Residual*s an
= Trace w | Trace l == Trace (x 3971 o, p=nanf
E E I _— i Roks4, 0-221)
rI- I 7| = Residuaits
I w=  Trace
i 4L po 0 G N Y B 4 I_ - _ ._.I...- L L —H =
Y=1204 (dx=1.5e-01, do=-9.2e-01) Y=1445 (dx=-4.4e-01, do=1.2e+00) Y=1686 (dx=-2.6e-01, do=nan) Y=1927 (dx=-2.9e-01, do=9.6e-01)
T T —r ] T
) ﬁ | | [ [ 1 rI | T — r;sgrg‘ezz 86, 0=120) | I
I - (x= o=nan L I
Ft 11 - | o It I i
== (x=3967.40, 0=1.28) _ 1 = (x=3966.23, 0=0.87) - Trace L == (x=3964.22, 0=0.98) 1
i calExp calExp -1 calExp
- (x= .55, 0=0. 1 - (x= 79, 0=2. "FT (x= .93, 0=1. 1
T d | fmdtsaesid N NI TR W B2 (g
- Trace |'\-| 1 - Trace = - Trace 1
L.|_|:|}.IJ.|{ ; L 1k IaEN _-H...I-- 1H- 9 ilg 1 U} _._-...I. I _LH--HE
uj 1 Al
T T T 1 n T L L[ T -Ll T T 1 T T
Y=2168 (dx=-3.9e+00, do=nan) Y=2409 (dx=-5.2e-01, do=1.1e+00) Y=2650 (dx—-3 4e-01, do=1.2e+00) Y=2891 (dx=1.7e-01, do=1.0e+00)
i I R r
pfsArm | pfsArm E pfsArm
= (x ' So8s. 89, o=nan) = (x=3963.47, 0=0.95) I == (x 3963.62, 0=0.84) = (x=3964.01, 0=1,03)
- (x:3963.00, 0=2.56) b (CEI:ESXQPSZ.%, 0=2.07) I o - (x 396328 0=1.99) - (cfggm.ls, 0=2.07)
e Residual*5 = Residual*5 I == Residual*5 7| === Residual*s
w= | Trace w  Trace I w=  Trace w  Trace
- G - — s b - - - I Ll o B O ol = B - — — - Lol K LK o e el - ek — — e v b el e we
O r
Y=3132 (dx=-1.1e+00, do=9.1e-01) Y=3373 (dx=-9.4e-02, do=8.7e-01) Y=3614 (dx=-6.3e-01, do=1.2e+00) Y=3855 (dx=-9.8e-01, do=8.0e-01)
1] LI | | ’
1 = (x=3969.85, 0=1.07)
1 1 1 =T (cxa‘:szgpss.m, 0=1.86)
pfsArm pfsArm 1 pfsArm - m—— Residual*s
= (x=3964.76, 0=0.96) = (x=3965.97, 0=1.05) 1 = (x=3967.67, 0=0.96) LN ) i
- calExp. calExp 1 calExp
w—(x=3963.67, 0=1.86) | == (x=3965.88, 0=1.92) 1 m—(x=3967.04, 0=2.11)
— Residual*s —Residual*s 1 — Residual*s
w— Trace w— | Trace l - Trace
- — — L N N e ] - I K L 3 8§ ] - — — — - =l el e bk d ol o
a1l
1
T 1 T T T
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Y=240 (dx=nan, do=nan)

f=1316, X=3961.7

Y=481 (dx=-1.8e+00, do=-7.8e-01)

Y=722 (dx=6.2e-02, do=-5.0e-02)

pfsArm pfsArm
=== (x=nan, o=nan) = (x=3969.85, 0=1.78)
calExp calExp
= (x=3980.36, o=nan) = (x=3968.08, 0=0.99)
—_ Residual*5 s Residual*s
- Trace l w— Trace
- -TT- - -

pfsArm
| ™ (x=396526,0=1.12)

calExp
= (x=3965.33, 0=1.07)
m— Residual*s
== Trace

Y=1204 (dx=6.1e-02, do=-1.5e-01)

Y=1445 (dx=7.2e-02, do=-3.5e-01)

pfsArm
| ™ (x=3961.15,0=111)

1 calExp
— (x=3961.22, 0=0.96)

= Residual*5

= Trace

T pfsArm
| ™ (x=3959.57, 0=121)

calExp
= (x=3959.65, 0=0.86)

e Residual*5
= Trace

pfsArm
= (x=3958.47, 0=1.15)

calExp
= (x=3958.61, 0=0.89)
= Residual*5

== Trace

i

Y=2168 (dx=8.3e-02, do=-5.7e-01)

Y=2409 (dx=-6.2e-02, do=nan)

Y=2650 (dx=1.2e-01, do=nan)

I pfsArm
| ™ x=3957.18, 0=1.08)

calExp
" (x=3957.27, 0=0.51)

e Residual*5
w— Trace

i

I pfsArm
1 = (x=3956.99, 0=1.06)

calEx
m—(x=3956.93, 0=nan)

e Residual*5

I pfsArm
1 = (x=3957.07, 0=1.06)

calEx|
= (x=3957.19, o=nan)

e Residual*s
== Trace

et

Y=3132 (dx=-1.1e+01, do=nan)

Y=3373 (dx=3.1e-01, do=nan)

Y=3614 (dx=3.4e-01, do=nan)

pfsArm
= (x=3958.24, 0=1.10)
calExp
= (x=3947.69, o=nan)

me= Residual*5
= Trace

3

I
I
|
1
1
1
1

T pfsArm
| ™ (x=3959.46, 0=1.10)
calExp
= (x=3959.77, 0=nan)
= Residual*5
- Trace

pfsArm

= (x=3961.16, 0=1.06)
calExp

= (x=3961.51, o=nan)

e Residual*s
= Trace

3950 3960 3970

3950 3960 3970

3950 3960 3970

Y=963 (dx=1.5e-01, do=-2.1e-01)

pfsArm
= (x=3963.01, 0=1.10)
calExp
= (x=3963.16, 0=0.89)
— Residual*s
== Trace

II'I n 1 |
Y=1927 (dx=3.4e-01, do=-7.2e-01)

I fsArm
| ™ (x=3957.61,0=122)

calExp
= (x=3957.95, 0=0.49)

e Residual*5
= Trace

sl

Y=2891 (dx=1.9e-01, do=nan)
pfsArm

_E = (x=3957.45, 0=1.12)

T
|

calExp

_ = (x=3957.64, o=nan)
e Residual*5

| = Trace
1 '
|
]
- =K = b= -l

Y=3855 (dx=-3.5e-01, do=7.5e-02)

1 i

pfsArm
= (x=3963.32, 0=1.11)

calExp
= (x=3962.98, 0=1.19)
m— Residual*5
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Y=240 (dx=nan, do=nan)

f=1317, X=3955.5

Y=481 (dx=3.4e+00, do=8.2e-01)

pfsArm
=== (x=nan, o=nan)

calExp
= (x=3963.49, o=nan)
— Residual*s

== Trace

pfsArm
== (x=3958.43, 0=0.49)

calExp
. = (x=3961.79, 0=1.31)

wm—_ Residual*5
== Trace

Y=1445 (dx=1.6e-01, do=-2.8e-01)

Y=1204 (dx=1.6e-03, do=-1.2e-01)

pfsArm I pfsArm I
= (x=3955.06,0=1.15) 1 = (x=3953.49, 0=123) 1
calExp 1 calExp
| ™ (x=3955.06, 0=1.03) = (x=3953.65,0=0.94)
= Residual*5 = Residual*5
= Trace - == Trace
1 I

1
Y=2168 (dx=3.3e-02, do=-4.1e-01)

Y=2409 (dx=2.6e-01, do=nan)

T pfsArm
1 = (x=3951.10, 0=1.11)
calExp
= (x=3951.13, 0=0.70)
e Residual*5
; I|

pfsArm ]
= (x=3950.91, 0=1.13)

calEx
= (x=3951.18, o=nan)

e Residual*5
| == Trace =

THEERIT A

Y=3132 (dx=-3.6e-01, do=nan)

Y=3373 (dx=1.7e-01, do=nan)

T pfsArm
| = (x=3952.17, 0=1.10)

calExp

(x=3951.81, o=nan)
mem= Residual*5
= Trace

T pfsArm
| ™ (x=3953.36,0=111)

calExp
= (x=3953.53, o=nan)
e Residual*s
= Trace

3940 3950 3960

3940 3950 3960

Y=722 (dx=4.6e-02, do=-1.8e-02)

pfsArm
= (x=3959.15, 0=1.16) 1

calExp
— = (x=3959.20, 0=1.14)
m— Residual*s

== Trace

Y=1686 (dx=1.9e-01, do=-3.4e-01)

pfsArm
| ™ (x=3952.41,0=117)
calExp
= (x=3952.59, 0=0.83)
= Residual*5
| - Trace

ITE

Y=2650 (dx=-1.2e-01, do=-6.3e-01)

. I pfsArm
1 = (x=3950.99, 0=1.11)

calExp
—(x=3950.87, 0=0.47)

e Residual*s
= Trace

e

Y=3614 (dx=1.9e-02, do=nan)

. ] T =

1 = (x=3955.05, 0=1.10)
calExp

= (x=3955.07, o=nan)

. Residual*s

- Trace

]
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Y=963 (dx=9.4e-02, do=-1.7e-01)

T

|

1
pfsArm

= (x=3956.68, 0=1.38)

calExp
= = (x=3956.78, 0=1.21)
= Residual*5
== Trace

n
Y=1927 (dx=2.6e-01, do=-7.2e-01)

pfsArm T
= (x=3951.54, 0=123) 1

calExp
= (x=3951.80, 0=0.52)
= Residual*5

== Trace

Y=2891 (dx=1.5e-01, do=nan)

I pfsArm
| ™ (x=3951.38,0=1.12)

calEx
m— (x=3951.53, g=nan)
e Residual*5

- Trace

Y=3855 (dx=-4.9e-02, do=-3.4e-01)

pfsArm
= (x=3957.25, 0=1.07)

calExp
= (x=3957.20, 0=0.73)

= Residual*5
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Y=240 (dx=nan, do=nan)

f=1318, X=3949.4

Y=481 (dx=2.7e+00, do=-5.3e-01)

pfsArm
=== (x=nan, g=nan)

calExp

= (x=3958.79, 0=0.87)
— Residual*s

= Trace

. pfsArm T
= (x=3952.87, 0=1.58) 1

calExp
= (x=3955.61, 0=1.05)
— Residual*s
= Trace

I
I
I
I

—— — I-
A
1

Y=1204 (dx=7.5e-02, do=-1.3e-01)

Y=1445 (dx=1.3e-03, do=-1.8e-01)

= Residual*5
= Trace

pfsArm I I pfsArm

= (x=3948.82, 0=1.12) 1 | = (x=3947.34,0=1.10)
calExp 1 calExp

= (x=3948.90, 0=0.99) T = (x=3947.34, 0=0.92)

e Residual*5
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Y=240 (dx=nan, do=nan)
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pfsArm
== (x=3878.24, o=nan)
calExp
= (x=3877.23, 0=1.84)
== Residual*5
=== Trace

(dx=1.3e-01

. do=1.5e+00)

pfsArm
= (x=3876.19, 0=0.63)

calExp
= (x=3876.31, 0=2.15)

e Residual*s
== Trace

i

14 (dx=

-1.0e+00, do=1.5e+00

)

[

i

S

pfsArm
=== (x=3880.06, 0=0.50)

calExp
= (x=3879.03, 0=1.99)
e Residual*s

3870

3880

i

3890

Y=963 (dx=-1.0e-01, do=-9.8e-02)

pfsArm
= (x=3880.37, 0=2.15)

calExp
= (x=3880.27, 0=2.06)
m— Residual*s

\ [

w Trace
L
Y=1927 (dx=2.9e+00, do=9.3e-01)

pfsArm
— = (x=3873.34, 0=0.98)
calExp
(x=3876.27, 0=1.90)
e Residual*5
= Trace

16T

T
|
1
1
|
|
|
1
1
T
1

Y=2891 (dx=-7.4e-01, do=1.7e+00)

pfsArm
— (x=3876.72, 0=0.42)

calExp
= (x=3875.98, 0=2.08)
= Residual*s

= Trace
. H f
Y=3855 (dx= e+00, do=nan)
pfsArm
m——(x=3882.17, o=nan)
- calExp
== (x=3880.66, 0=1.78)
- wm— Residual*5
== Trace
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Y=240 (dx=nan, do=nan)

f=1330, X=3874.2

Y=481 (dx=1.5e-01, do=-1.2e-01)

- (x= 3883 96, 0=0.47)
m— Residual*s
= Trace

pfsArm pfsArm
= (x=nan, g=nan) | = (x=3880.56, 0=1.10)
calExp I calExp

- (x= 388071 0=0.99)
m— Residual*s

E

Y=722 (dx=2.2e-01, do=-2.2e-01)

Y=1204 (dx=1.5e-01, do=-3.4e-01)

Y=1445 (dx=2.6e-01, do=-6.9e-01)

Pl

— (x 3877 96, 0=1.10)

— (x=387&1a, 0=0.88)
= Residual*5

= Trace
- .I -

n
Y=1686 (dx=4.5e-01, do=nan)

L

pfsArm
= (x=3874.05, 0=1.08)

calExp
= (x=3874.21, 0=0.75)

= Residual*5
J.L

= Trace

pfsArm
| ™ (x=3872.67, 0=1.09)
calExp
= (x=3872.93, 0=0.39)
e Residual*5
= Trace

Y=2409 (dx=1.2e+00, do=nan)

T fSAr

pfsArm
| = (x=3871.57,0=1.08)

calExp
= (x=3872.02, 0=nan)
= Residual*5

== Trace

pfsArm T L pfsArm T H
= (x=3870.23, 0=1.07) 1 = (x=3870.03, 0=0.95) 1
=
calExp calEx
= (x=3870.36, 0=0.09) = (x=3871.28, o=nan) L
= Residual*5 = Residual*5
- Trace - Trace
-
- - —I o

Y=2650 (dx=7.3e-01, do=nan)

T
|
7, I
e Residual*5 #
= wace
|

1
Y=3373 (dx=4.4e-01, do=nan)

pfsArm
= (x=3870.04, 0=1.01)

:

calExp
= (x=3870.77, g=nan)

]

pfsArm
= (x=3871.07, 0=1.05)

calExp
(x=3871.14, o=nan)

pfsArm T
= (x=3872.15, 0=1.05) 1

calExp
(x=3872.59, o=nan)

Y=3614 (dx=7.4e-01, do=nan)

e Residual*5 "1 e Residual*5
= Trace 5 - I | Trace I
i 1Ll lE 1':' L
e Al1E I i

3860 3870 3880

3860 3870 3880

T pfsArm
| = (x=3873.68, 0=1.02)

calExp
= (x=3874.42, 0=nan)
e Residual*s
= Trace

'\i
E I

3860 3870 3880

Y=963 (dx=1.4e-01, do=-2.2e-01)

T pfsArm
| = x=3875.79,0=1.15)
| calExp

_(x= 3875 93, 0=0.93)

e Residual*5.

Y 1927 (dx 3. 9e 01 da—nan)

pfsArm T |
= (x=3870.83, 0=0.97)

calExp
= (x=3871.22, o=nan)

|
1
e Residual*5 d.l
= Trace
|
|
It
r
T
1

Y=2891 (dx=4.3e-01, do=nan)

pfsArm
— (x 3870.38, 0=1.06)

calEx|
= (x=3870.82, o=nan)
= Residual*5
== Trace

3
T
1
1

Ik

Y=3855 (dx=3.2e-01, do=nan)

pfsArm

= (x=3875.72, 0=0.99)
calExp

=== (x=3876.04, o=nan)

e Residual*5
= Trace
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Y=240 (dx=nan, do=nan)

f=1331, X=3867.9

Y=481 (dx=-5.2e-01, do=nan)

pfsArm
=== (x=nan, o=nan)

calExp
- (x= 3373 74, 0=3.24)
— Residual*s

= Trace

i

pfsArr
= (x=3874.69, o=nan)
calExp
= (x=3874.17, 0=1.91)
— Residual*s
== Trace

T T
Y=1204 (dx—l 5e+01, do= nan) Y=1445 (dx=-3.6e-01, do=nan)
T foArm TTH 7 Seam 7
| = (x=3853.09, o=nan) 1 == (x=3866.78, g=nan)
1 calExp 1 calExp
= (x=3868.12, 0=1.13) = (x=3866.42, 0=2.02)
—Residual*s T Il = Resiquars
- Trace 1 1 - Trace
- 1
7] 1
[ : 1 I
- — = - =k = L o - I -
I K [
1 1
T

Y=2168 (dx=-2.8e+00, do=nan)

01, do=1.2e+00)

pfsArm
== (x=3866.22, o=nan)
- calExp
m—(x=3863.42, 0=2.13)

e Residual*5
= Trace

Il

pfsArm
= (x=3863.92, 0=0.80)

calExp
= (x=3863.08, 0=2.01)

e Residual*5

= Trace

Y=3132 (dx=-1.2e

+00, do=1.2e+00

)

Y=3373 (dx=-1.4e+00, do=1.4e+00

)

pfsArm
= (x=3865.04, 0=0.59)

calExp
= (x=3863.82, 0=1.84)
= Residual*5

= Trace

pfsArm
= (x=3866.12, 0=0.57)

calExp
= (x=3864.76, 0=1.97)
= Residual*5
= Trace

M
—

3850

3860

3870

3880

3850

3860

3870

3880

Y=722 (dx=6.1e+00, do=nan)

pfsArm T
== (x=3866.79, o=nan) 1
calExp 1
= (x=3872.91, o=nan)
_| == Residual*s
= Trace l
b e o .II -

, do=1.3e+00)

Il
iy

T
|
1
pfsArm |
== (x=3865.53, 0=0.68) 1
calExp
= (x=3865.59, 0=1.97) 1
== Residual*5 I
- Trace 1
|._- ARIE ___'I. |
1 T T L I T
Y=2650 (dx=-1.0e+00, do=nan)
pfsArm
== (x=3864.41, 0=nan)
calExp
= (x=3863.39, 0=2.03)
mm—m Residual*5
- Trace
[ -I
—
- - =
T T
Y=3614 (dx=-6.2e-01, do=1.0e+00)
pfsArm
1] | |= (x=3867.46, 0=1.01)
| calExp
= (x=3866.84, 0=2.04)
I | |— Resicuars
(] - Trace
I
I
I
I
[ N S § -

3860

3870

3880

Y=963 (dx=-1.4e-01, do=-3.0e-01)

pfsArm

= (x=3869.38, 0=1.45)
calExp

- x= 3869 24, 0=1.16)

wmm_ Residual*5
== Trace

It

-
Y=1927 (dx=-8.2e-01, do=6.1e-01)

pfsArm
= (x=3864.62, 0=1.00)

calExp

= ™ (x=3863.80, 0=1.61)

= Residual*s
== Trace

Y=2891 (dx=-8.9e-02, do=1. 2e+00)

R ——

pfsArm
= (x=3864.22, 0=0.89)

calExp
= (x=3864.13, 0=2.05)
e Residual*5

= Trace

Y=3855 (dx=-8.0e-01, do=7.8e-01)

i

T = -

R

pfsArm
== (x=3869.44, 0=1.05)

calExp
= (x=3868.64, 0=1.83)
= Residual*5
== Trace
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Y=240 (dx=nan, do=nan)

f=1332, X=3861.8

Y=481 (dx=4.7e-02, do=-2.7e-01)

pfsArm
=== (x=nan, g=nan)

calExp
- (x= 3371 27, 0=0.34)
— Residual*s

= Trace

pfsArm
- = (x=3868.10, 0=1.12) 1

calExp
_(x= 3868 15, 0=0.85)

e Residual*s
= Trace

0h

Y=1204 (dx=1.6e-01, do=-3.3e-01)

Y=1445 (dx=1.2e-01, do=-8.4e-01)

pfsArm I -1 pfsArm I
= (x=3861.63, 0=1.15) 1 = (x=3860.25, 0=1.11) 1
calExp 1 calExp
= (x=3861.79, 0=0.82) = (x=3860.37, 0=0.28)
m— Residual*s 7| == Residual*s =2
- Trace - Trace 1
-
=
rr_" =
|-
- - = e ot ==

Y=2168 (dx=1.1e+00, do=nan)

Y=2409 (dx=2.6e+00, do=nan)

T == Trace

pfsArm I L
= (x=3857.79, 0=1.14) 1

calEx
m— (x=3858.89, 0=nan)

= Residual*5

=1

;

7| == Residual*s

pfsArm
= (x=3857.57, 0=1.09)

calEx
m—(x=3860.13, o=nan)

= Trace

LA

Y=3132 (dx=1.4e+00, do=nan)

Y=3373 (dx=1.6e+00, do=nan)

pfsArm T " pfsArm T
= (x=3858.61, 0=1.09) | = (x=3859.67, 0=1.08) 1

calExp calExp |
= (x=3860.02, o=nan) = (x=3861.22, 0=nan)

= Residual*5
= Trace

T

= Residual*5
= Trace

e

3850 3860 3870

3850 3860 3870

Y=722 (dx=4.0e-02, do=-1.7e-01)

pfsArm T
= (x=3865.51, 0=1.14) 1

calExp
_(x= 3865 55, 0=0.97)

wm— Residual*s
== Trace

2=

'Y=1686 (dx=1.1e-01, do=nan) '

. I pfsArm
1 = (x=3859.16, 0=1.11)

calExp
= (x=3859.26, 0=nan)

w—— Residual*5
Y=2650 (dx=4.6e-01, do=na

Y=963 (dx=1.6e-01, do=-2.2e-01)

pfsArm T
= (x=3863.39, 0=1.14) 1

calExp
1= &= 3863 55, 0=0.92)

e Residual*5
== Trace

Y=1927 (dx=-2.5e-01, do= nan)

N I pfsArm
| ™ (x=3858.37,0=1.07)

calExp
= (x=3858.12, 0=nan)
e Residual*5

== Trace

r L

— pfsArm T
= (x=3857.60, 0=1.09) 1
calExp

m—(x=3858.06, 0=nan)
= Residual*5
- Trace

Tt
I

Y=3614 (dx—-9 6e+00 do=1.9e+00

)

m

pfsArm
| = (x=3861.19, 0=1.06)

calExp
= (x=3851.58, 0=2.99)

= Residual*5 -
= Trace
-
. J _F
|
Iz
1 =
i =
. = - e
r al
1
T

3850 3860 3870

Y=2891 (dx=1.1e+00, do=nan)
T
= E):iAzré“m 91, 0=1.12) 1
calEx|

(x=3859.01, o=nan)
e Residual*5
= Trace

Y=3855 (dx=-8.8e-01, do=1.5e+00)

pfsArm
= (x=3864.69, 0=124)

calExp
= (x=3863.81, 0=2.78)
e Residual*5
== Trace
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Y=240 (dx=nan, do=nan)

f=1333, X=3855.4

Y=481 (dx=3.8e-01, do=nan)

pfsArm
=== (x=nan, o=nan)

calExp
s tx 3865 03, o=nan)
— Residual*s

== Trace

pfsArm T

= (x=3861.77, 0=1.09) 1
calExp

- = 3862 15, o=nan)

s Residual*s

w | Trace

Y=1204 (dx=3.2e-02, do=-4.7e-01)

| Fll -
Y=1445 (dx=8.3e-01,

da'=nan)

pfsArm
= (x=3855.36, 0=1.12)

l

calExp
= (x=3855.39, 0=0.65)
= Residual*5
= Trace

pfsArm
= (x=3853.97, 0=1.03)

calExj
_(x= 3354 81, =nan)
e Residual*5
= Trace
-]

]

p— 1
'Y=2168 (dx=2.3e+00, do=nan)

1
Y=2409 (dx=5.2e+00,

aa=nan)

pfsArm T pfsArm t
= (x=3851.55, 0=1.06) 1 = (x=3851.34, 0=1.03)
calEx calExj
= (x=3853.87, 0=nan) - ™ (x=3856.52, o=nan)
= Residual*5 = Residual*5 I L
- Trace ] - Trace

!

o

Y=3132 (dx=4.5e+00, do=nan)

Y=3373 dx—-2 9e+00, do=2.5e+00

= =]
pfsArm

= (x=3852.34, 0=1.04)
calExp

== (x=3856.81, o=nan)

e Residual*5
= Trace

CLF AL T I

pfsArm

= (x=3853.41, 0=1.02)
calEx

- (x= 3850, 50, 0=3.49)

= Residual*5

= Trace

d = 1

Ik

1

-

T

3840 3850

3840 3850

3860

Y=722 (dx=1.7e-01, do=-3.7e-01)

[ B (x 3859 40, 0=0.75)
wm— Residual*s
== Trace

pfsArm T
= (x=3859.22, 0=1.12) 1
calExp 1

"

Y=963 (dx=-4.6e-03, do=-4.5e-02)

Y=1686 (dx=2.3e-01, do=nan)

fsArm

pf
= (x=3856.95, 0=1.27)

calExp
_(x= 3856 95, 0=1.22)
m— Residual*s
== Trace

n

' Y=1927 (dx=-2.5e+01, do=nan)

n
Y=3614 (dx=-3.9e+00, do=

- 1 I Ar I 1 pf;Arn: 1
| = (x=385271,0=128) | |™ (x=3852.43,0=172)
calExp 1 calExp.
= (x=3852.94, o=nan) = (x=3827.01, g=nan)
T m— Residual*s . I [ — Resiauarss
-|1 - Trace I]|= Tace
I 1
13- L L {H-- H--FF+H-+-
T T T 1 T
Y=2650 (dx=-2.2e-01, do=nan) Y=2891 (dx=4.7e-01, do=nan)
=
[ | | "
. | 1
pfsArm ™1
_| = (x=3851.33, 0=1.07) — (x 3851 68, 0=1.00)
calExp Exp
== (x=3851.11, o=nan) — (x=3852 16, o=nan)
== Residual*5 = Residual*5
- Trace - Trace
| . il 15 JTI.IJ. Jdd -
HESIT [
T

1
1.9e+00) Y=3855 (dx=nan, do=nan)

pfsArm pfsArm
= (x=3855.01, 0=0.71) = === (x=nan, o=nan)

calExp calExp
= (x=3851.08, 0=2.63) = -1 = (x=3855.30, 0=2.64)
m—Residual*5 _rl m— Residual*s
= Trace - = Trace

- El1 K. 4 ——
] L -L
=| F =
T

3840

3850

3860

3870 3840

3850

3860

3870



